DIvISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH 5 Nane:
Time: Score: y—
s 404 = 5 = 16) 460 -5 =
20 2470 =5 = M 2206 +5 =
33) 1435 = 5 = 18) 32062 =5 =
39 2501 = 5 = 19) 4247 =5 =
35) 4383 =~ 5 = 50 3948 + 5 =
56 1330 =5 = 51) 2585 =5 =
50 3509 + 5 = 2 902+ 5 =
) 3576 + 5 = 790 +5 =
39) 4325 =5 = ) 735 +95=
0) 2425 +5 = w281 +5=
1) 343 =5 = 56) 770 =5 =
12) 356 =5 = 57) 4525 =+ 5 =
13) 792 =~ 5 = %) 842 +5 =
1 640 = 5 = 59) 2244 + 5 =
5) 1158 +5 = 0686 =5 =
Mathematics: Division - Level § - Horizontal - Set 3 3 culu
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